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NEW QUESTION 1
Which of the following outputs comes from the command free?

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: E

NEW QUESTION 2
Which of the following outputs could stem from the command last?

A. 1 ls 2 cat text.txt 3 logout
B. Password for user last changed at Sat Mar 31 16:38:57 EST 2018
C. Last login: Fri Mar 23 10:56:39 2018 from server.example.com
D. EXT4-fs (dm-7): mounted filesystem with ordered data mod
E. Opts: (null)
F. root tty2 Wed May 17 21:11 - 21:11 (00:00)

Answer: E

NEW QUESTION 3
The file script.sh in the current directory contains the following content:
#!/bin/bash echo $MYVAR
The following commands are used to execute this script: MYVAR=value
./script.sh
The result is an empty line instead of the content of the variable MYVAR. How should MYVAR be set in order to make script.sh display the content of MYVAR?

A. !MYVAR=value
B. env MYVAR=value
C. MYVAR=value
D. $MYVAR=value
E. export MYVAR=value

Answer: E

NEW QUESTION 4
What can be found in the /proc/ directory?

A. One directory per installed program.
B. One device file per hardware device.
C. One file per existing user account.
D. One directory per running process.
E. One log file per running service.

Answer: D

NEW QUESTION 5
Which files are the source of the information in the following output? (Choose two.) uid=1000 (bob) gid=1000 (bob) groups=1000 (bob), 10 (wheel), 150
(docker), 1001 (libvirt)(wireshark),989

A. /etc/id
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B. /etc/passwd
C. /etc/group
D. /home/index
E. /var/db/users

Answer: BC

NEW QUESTION 6
A user is currently in the directory /home/user/Downloads/ and runs the command ls ../Documents/
Assuming it exists, which directory’s content is displayed?

A. /home/user/Documents/
B. /home/user/Documents/Downloads/
C. /home/user/Downloads/Documents/
D. /Documents/
E. /home/Documents

Answer: D

NEW QUESTION 7
Which of the following is a protocol used for automatic IP address configuration?

A. NFS
B. LDAP
C. SMTP
D. DNS
E. DHCP

Answer: E

NEW QUESTION 8
Which permissions are set on a regular file once the permissions have been modified with the command chmod 654 file.txt?

A. drw-r-xr-
B. d—wxr-x-
C. –wxr-x--x
D. –rwxrw---x
E. -rw-r-xr-

Answer: E

NEW QUESTION 9
FILL BLANK
What keyword is used in a shell script to begin a loop? (Specify one keyword only, without any additional information.)

A. Mastered
B. Not Mastered

Answer: A

Explanation: 
for

NEW QUESTION 10
Which of the following commands creates an archive file work.tar from the contents of the directory ./ work/?

A. tar --new work.tar ./work/
B. tar –cf work.tar ./work/
C. tar –create work.tgz –content ./work/
D. tar work.tar < ./work/
E. tar work > work.tar

Answer: B

NEW QUESTION 10
Which of the following commands will search for the file foo.txt under the directory /home?

A. search /home –file foo.txt
B. search /home fo
C. txt
D. find /home – file foo.txt
E. find /home –name foo.txt
F. find /home foo.txt

Answer: D
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NEW QUESTION 12
Where is the operating system of a Raspberry Pi stored?

A. On the master device attached to the Raspberry Pi’s IDE bus.
B. On a read only partition on the Raspberry Pi’s firmware, next to the BIOS.
C. On a removable SD card which is put into the Raspberry Pi.
D. On a Linux extension module connected to the Raspberry Pi’s GPIO pins.
E. On rewritable flash storage which is built into the Raspberry Pi.

Answer: C

NEW QUESTION 16
Which of the following programs are web servers? (Choose two.)

A. Apache HTTPD
B. Postfix
C. Curl
D. Dovecot
E. NGINX

Answer: AE

NEW QUESTION 21
A directory contains the following files:

What would be the output of the following shell script? for file in *.txt

A. *.txt
B. a b
C. c.cav
D. A.txt
E. txt
F. txt

Answer: E

NEW QUESTION 25
What is the return value of a shell script after successful execution?

A. 1
B. -1
C. -255
D. 255

Answer: B

NEW QUESTION 27
Which of the following are typical services offered by public cloud providers? (Choose three correct answers.)

A. Platform as a Service(PaaS)
B. Infrastructure as a Service(IaaS)
C. Internet as a Service(IaaS)
D. Graphics as a Service (GaaS)
E. Software as a Service (SaaS)

Answer: ABE

NEW QUESTION 31
Which of the following tasks can the command passwd accomplish? (Choose two.)

A. Change a user's username.
B. Change a user's password.
C. Create a new user account.
D. Create a new user group.
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E. Lock a user account.

Answer: CE

NEW QUESTION 36
What is true about a recursive directory listing?

A. It includes the content of sub-directories.
B. It includes the permissions of the directory listed.
C. It includes details of file system internals, such as inodes.
D. It includes ownership information for the files.
E. It includes a preview of content for each file in the directory.

Answer: A

NEW QUESTION 40
Which of the following commands sets the variable USERNAME to the value bob?

A. set USERNAME bob
B. $USERNAME==bob
C. var USERNAME=bob
D. USERNAME<=bob
E. USERNAME=bob

Answer: E

NEW QUESTION 41
Which of the following DNS record types hold an IP address? (Choose two.)

A. NS
B. AAAA
C. MX
D. A
E. CNAME

Answer: CD

NEW QUESTION 46
The ownership of the file doku.odt should be changed. The new owner is named tux. Which command accomplishes this change?

A. chmod u=tux doku.odt
B. newuser doku.odt tux
C. chown tux doku.odt
D. transfer tux: doku.odt
E. passwd doku.odt:tux

Answer: C

NEW QUESTION 50
Which of the following devices represents a hard disk partition?

A. /dev/ttyS0
B. /dev/sata0
C. /dev/part0
D. /dev/sda2
E. /dev/sda/p2

Answer: D

NEW QUESTION 53
Which of the following commands sorts the output of the command export-logs?

A. export-logs < sort
B. export-logs > sort
C. export-logs & sort
D. export-logs | sort
E. export-logs <> sort

Answer: D

NEW QUESTION 58
Which of the following permissions are set on the /tmp/ directory?

A. rwxrwxrwt
B. ------rwX
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C. rwSrw-rw
D. rwxrwS--
E. r-xr-X--t

Answer: A

NEW QUESTION 63
Which of the following examples shows the general structure of a for loop in a shell script?

A. for *.txt as file => echo $file
B. for *.txt ( echo $i )
C. for file in *.txt do echo $i done
D. for ls *.txt exec {} \;
E. foreach @{file} { echo $i }

Answer: C

NEW QUESTION 64
What is the purpose of the PATH environment variable?

A. It allows the execution of commands without the need to know the location of the executable.
B. It increases security by preventing commands from running in certain locations.
C. It specifies the location of a user's home directory.
D. It indicates the location of the default shell to be used when a user logs in.
E. It contains the absolute path to the current directory.

Answer: A

NEW QUESTION 65
The current directory contains the following file:
-rw-r—r— 1 root exec 24551 Apr 2 12:36 test.sh
The file contains a valid shell script, but executing this file using ./test.sh leads to this error: bash: ./test.sh: Permission denied
What should be done in order to successfully execute the script?

A. The file’s extension should be changed from .sh to .bin.
B. The execute bit should be set in the file’s permissions.
C. The user executing the script should be added to the exec group.
D. The SetUID bit should be set in the file’s permissions
E. The script should be run using #!./tes
F. sh instead of ./test.sh.

Answer: B

NEW QUESTION 70
Which statements about the directory /etc/skel are correct? (Choose two.)

A. The personal user settings of root are stored in this directory.
B. The files from the directory are copied to the home directory of the new user when starting the system.
C. The files from the directory are copied to the home directory of a new user when the account is created.
D. The directory contains a default set of configuration files used by the useradd command.
E. The directory contains the global settings for the Linux system.

Answer: CD

NEW QUESTION 75
......
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